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Q1- Answer the following questions from the novel.

a- Why was Tinman standing in the woods?
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For how long has the Tin man been standing at the same spot?

How did he become a Tinman?
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d- Which body part was missing from Tinman’s body?

Who attacked them?
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Q2- Make sentences by adding either a subject or a predicate.

i- first met her in Paris.

ii- The magician

iii- before the doctor came.

iv- The train




Q3- Write a shape poem on any one of the following shapes.




Answer key
Q1l-

a- He could not move due to his rusted body.

b- Tin man had been standing on the same spot for a year.

Father of the girl whom he loved asked the Wicked Witch of East to cast a
spell on him. The curse forced him to cut his own body parts. He had asked
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a tinsmith to make body parts of tin for him.
d- Heart was missing from Tin man’s body.

e- A coward lion attacked them.

Q2- Student’s discretion.

Q3- Student’s discretion.



